= b (a )b, (X), so0 the LHS and the RHS agree.

Giy  LHS = L, (fay, 00 = ad (fon X) —fen ([ a,d, . X
= a8, (o (X)) + fad, (an X) - fo, {ad, . XD

RHS = a,d, ()@, 0+ fa,d, (@ X - fon, da,d,.4)
So LHS = RHS as chimed

{ivi  Use the result that [Evm][f]= F"{m}f}—m{[_#", XD tor argue that
LHS = a8, (b@ ) - heyad,, o,d, +e,8,D

= ad,(be)) - Blad ¢) + bc(da) + b ¢ (8,a)

- ad(b)e,) + abd (e - blad )+ be(da) + b e(da)
= ad (b Xe) + b o (da) + b ey (d,a)

RHS = dlab )x + a8, ldibe i

= (3, (e, Jo, + 8, 0ab Jer 0% + @) |80 ey, ~ooy) ()

(@ (ab o, +8,(ab o, 1x 3.5 (2 ne) (a8 5

e 8lab )+ e, 8. 0ab,) —(8,8 e,

o, (3, (a )b, +a,d b))+ (8.0 (8, )+ @, 8,8, (8,5, )ac,

¢, (&, (a, )b, +a,ﬂ]b,}+r:!ﬂ=ﬂlliﬁjj.
a0 the LHS und the BHS agree,

(uestion 2

These are largely routine calcularions, using & 'e, = &, .

The answers are;

(i {xl-ﬁﬁ= 30'6'8" .ag'99c-g'ge" +g%gtgt

awlp =68 +8*+8°-28"

Giiiy A (v,.v,) = 0

(iv) Tt may be worth pointing qut that G4 F= 28"~ 8~ 87 A 8" is not zero, This can happen
because fF is of even degres, ":'m.mml.'huvrmmnpmﬂldﬂ:t{ﬂl,l'll},wtﬁd: works out tobe 9, so

the angwer is 2.9 = 18,

Duestion 3

MEZT THA 02 2001 Solutions

(BN ]



